

$0,5 + 6 + 18,146 + 52,38 = 77,026$

$6,22 \times 6,4 = 39,808$

$56,99 - 36 = 20,99$

$182,7 : 3 = 60,9$

$$\begin{array}{r} 11,1 \\ 0,5 \\ 6, \\ \hline 18,146 \\ 52,38 \\ \hline 77,026 \end{array} +$$

$$\begin{array}{r} 6,22 \\ \underline{64} \times \\ 2488 \\ 37320 \\ \hline 39808 \end{array} +$$

$$\begin{array}{r} 56,99 \\ 36 \\ \hline 20,99 \end{array} -$$

$$\begin{array}{r} 3 \overline{) 182,7} \quad 60,9 \\ \underline{18} \quad \vdots \quad \vdots \\ 027 \\ \underline{27} \\ 0 \end{array}$$

